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PAPER-II
SOCIAL WORK
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(To be filled by the Candidate)

Roll No.

(In figures as per admission card)
Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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SOCIAL WORK
Paper - 11

marks. Attempt all the questions.

The Book ‘History, Philosophy and
Fields of Social Work in India’ is
written by

(A) M.S. Gore

(B) S.K. Khinduka

(C) A.R. Wadia

(D) R.R. Singh

Integrated approach in social work

means

(A) Synthesis of
methods

(B) Integration of techniques of
social work

(C) Application of social work
approaches

(D) Practice of all the theories

social work

Classification of primary group and
secondary group is given by

(A) Cooley (B) Maclver
(C) Sumner (D) Giddings

The millennium development goals
are adopted by UN countries in the year
(A) 2004 (B) 2007
(C) 2000 (D) 2001

Social stratification is a horizontal
division of society into higher and
lower social units — defined by

(A) Lundberg (B) Cooley
(C) Williams (D) Murray
According to structural theory,

personality consists of

(A) Idand Ego

(B) Conscious, unconscious and
subconscious

(C) 1d, Ego and super ego

(D) Ego and Super ego

Encoding is essential for
(A) Sender (B) Receiver
(C) Message (D) None
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10.

11.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Inductive statistics refers to

(A) Summarizing of information

(B) Application of  research
methods

(C) Application of x? test

(D) Making generalization about
some population on the basis
of sample.

The variable that is the effect of
another variable is

(A) Nominal variable

(B) Intervening variable

(C) Independent variable

(D) Dependent variable

Which of the following is a correct

matching ?

(A) V. T. — Social work
Krishana- research
machary

(B) P.L.Brayne - Women

welfare

(C) Rabindranath — Community
Tagore Development

programmes in
India
(D) S.K. Dey — Child welfare

Match the following with the year of
commencement :

List -1 List - II
()  Human Rights (1) 1949
(Il) Indian Constitution (2) 1944

(IIT) Convention on (3) 1976
child rights

(IV)National policy for (4) 1959
children

Codes :

@ (D) ) av)
@ 3 @O @ @B
B @ @O 3 @
<© @ @O @ 3
O @O @ 6 &
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12.

13.

14.

15.

Assertion (A) : Non-violence is
the core of Buddhist doctrine.

Reason (R) Buddhist’s
philosophy can be followed for
maintaining peace and harmony.

Codes :

(A) Both (A) and (R) are wrong.
(B) (A) is correct but (R) is wrong.
(C) (A)is wrong but (R) is correct.
(D) Both (A) and (R) are correct.

Match the following legislations
with the year of enactment :

List -1 List — 11
(I) The Child (1) 1929
Marriage
Restraint Act
(I) The  Juvenile (2) 1904
Justice Act
(IIT) The ~ Factories (3) 1986
Act
(IV)The Cooperative (4) 1948
Societies Act
Codes :
(H dp I av)

@“ @ 6 @ @
B G @ @O &
e @O 6 @ @
O G @ @O @

A variable is an empirical property
that takes

(A) One value

(B) Two or more values
(C©) Quantitative value
(D) Qualitative value

Which one of the following is the
basis of membership of caste ?

(A) By Name

(B) By Religion

(C) By Economic Status
(D) By Birth
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16.

17.

18.

19.

Arrange in correct sequence the
stages of human growth.

(A) Oral stage, Phallic stage,
Latency stage, Anal stage,
Genital stage

(B) Oral stage, Genital stage,
Latency stage, Phallic stage,
Anal stage

(C) Oral stage, Anal stage, Phallic
stage, Latency stage, Genital
stage

(D) Oral stage, Anal stage, Genital
Stage, Phallic stage, Latency
stage

When there is an equal chance for
each unit in the universe to be
included in the sample, that type of
sampling is called

(A) Purposive sampling

(B) Non probability sampling

(C) Systematic sampling

(D) Probability sampling

Functional approach in case work
was developed by

(A) Jessy Taft

(B) Gordon Hamilton

(C) Otto Rank

(D) Gisele Konopka

Arrange Maslow’s Needs Hierarchy

in order.

(A) Physical needs, Safety needs,
Social needs, Esteem and Self-
actualization

(B) Social needs, Safety needs,
Physical needs, Esteem and
Self-actualization

(C) Esteem, Social needs, Safety
needs, Physical needs and Self-
actualization

(D) Physical needs, Self-
actualization, Esteem, Safety
needs and Social needs
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15.
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20.

21.

22.

23.

Programme planning in social group

work should grow out of

(A) Needs and interests of group
members.

(B) Needs of community.

(C) Consultation with leaders

(D) None of the above

Assertion (A) : Right to education
makes provision that every child
has right to get education.

Reason (R) Private schools are
also responsible for giving
education to poor children.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(B) (A)is wrong but (R) is correct.

(C) (A)is correct but (R) is wrong.

(D) Both (A) and (R) are correct,
(R) is the correct explanation

of (A).

Assertion (A) : Health, education
and income are the indicators
used for measuring Human
Development Index.

Reason (R) Unemployment
may  vitiate the  human
development.

Codes :

(A) Both (A) and (R) are wrong.

(B) Both (A) and (R) are correct.

(C) (A)is correct but (R) is wrong.

(D) (A) is wrong and (R) is
correct.

The continuous scrutiny of the
factors that determine the occurrence
and distribution of disease and other
conditions of ill-health is called

(A) Survey

(B) Evaluation

(C) Surveillance

(D) Sentinel surveillance
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24.

25.

26.

27.

28.

“Turning aside from the right way is”
(A) Culture

(B) Normative system

(C) Social deviance

(D) All the above

National Policy for Empowerment of
Women was adopted in the year

(A) 2002 (B) 2001

(C) 1999 (D) 1986

Assertion (A) : Affirmative action
leads to the participation of

weaker sections in decision
making.

Reason (R) Women need
affirmative action to take part in
decision making.

Codes :

(A) (A)is wrong and (R) is correct.

(B) (A)is correct and (R) is wrong.

(C) Both (A) and (R) are correct,
and (R) 1is the correct
explanation of (A).

(D) Both (A) and (R) are wrong
but (R) is not the correct
explanation of (A).

The zero point is absolute in this
type of level of measurement :

(A) Interval level

(B) Nominal level

(C) Ratiolevel

(D) Ordinal level

Match the following for their
association :
List -1 List - II
(I) Variable (1) Qualitative
data
(II) Attribute (2) Secondary
Data
(IIT) Empirical (3) Numerical
Evidence Data
(IV)Documentary  (4) Primary
Evidence Data
Codes :
(H dp i av)

@A 3 @O 2@ @B
B & @O @ @
< & @ O @
O & @ @ D
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29.

30.

31.

32.

Assertion (A) : Nominal level of
measurement is the lowest and
most simple level of
measurement.

Reason (R) : A variable is
classified into several nominal
sub-classes.

Codes :

(A) (A)is correct, but (R) is wrong.

(B) Both (A) and (R) are correct.

(C) (A)is wrong, but (R) is correct.

(D) Both (A) and (R) are wrong.

Arrange the field practicum in

sequence :

(A) Orientation, concurrent field
work, observation visit, Block
placement

(B) Observation visit, orientation,
Block Placement, Concurrent
field work

(C) Concurrent field work,
Observation visit, Orientation,
Block Placement

(D) Orientation, Observation visit,
Concurrent field work, Block
placement

Assertion (A) : Social work is a
human rights profession.

Reason (R) Client’s problems
should be solved as per his/her
decision.

Codes :

(A) Both (A) and (R) are wrong.
(B) (A)is correct but (R) is wrong.
(C) Both (A) and (R) are correct.
(D) (A)is wrong but (R) is correct.

Which one of the following is not a
correct matching ?

(A) Murray G. — Community
Ross
(B) P.D. — Social Policy
Kulkarni in India
(C) H.B.Trucker — Social group
work
(D) M.S.Gore - Social case
work
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33.

34.

3s.

Match the following writers with
their contributions to specific areas
of understanding social group.

List -1 List - I1
()  Simmer (1) Leadership
theories

(Il) Maclver (2) Primary group
(IIT) Eubank  (3) Nature of group

(IV) Cooley (4) Collection of
Human beings

Codes :

(O dp di av)
@A 3 @ @O @
@ & @G @ @
e & @ @O &
@ 3 @O @ @

Public Interest Litigation is aimed at
to protect

(A) the public servants
(B) the tribals

(C) the women

(D) the public

Arrange the stages of social work
intervention in order.

(A) Situational analysis, Need
Assessment, Prioritizing,
Action plan, Implementation

(B) Need Assessment, Prioritizing,
Situational analysis,
Implementation, Action plan

(C) Situational analysis, Action
plan, Prioritizing, Need
Assessment, Implementation

(D) Prioritizing, Need assessment,
Situational analysis, Action
plan, Implementation
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36.

37.

38.

Arrange case work process in order.

(A)
(B)
©)

D)

Study, Diagnosis, Intake,
Treatment, follow-up
Intake, study, Diagnosis,
Treatment, follow-up
Study, intake, Follow-up,
Diagnosis, Treatment
Intake, Diagnosis, Treatment,

Study, Follow-up

CEDAW stands for

(A)

(B)
©)

D)

Convention on elimination of
all forms of discrimination
against women.

Convention on empowerment,
development of adult women.
Conference on elimination of
all forms of discrimination
against women.

Customary  elimination  of
discrimination against adult
women

Match the statistical methods with
their application.

List -1 List - II
(I) Standard (1) Explains
Deviation relationship
between
variables
(II) Correlation (2) Explains
association of
attributes
(III) Chi-square (3) Explains
dispersion
within a
distribution
(IV) t-test (4) Explains
significance
of difference
between two
samples
Codes :
(O dAH dmn adav)
A 3 @O @ @
@ @ 3 @ O?
o @ @O 3 @
® 3 @O 2 WD
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39.

40.

41.

Match the following :

(I) The Industrial (1) 1986
Employment (S.O)
Act

(I)’ The Trade Union (2) 1936
Act

(IIT)y The Payment of (3) 1926
Wages Act

(IV) The Mental Health (4) 1946
Act

Codes :
(O dn diIn adav)

A @ 3G @ @

@ G @ @D AW

© @ & O @

@ @O @ 3 Q)

Match the following :
List-1 List — 11

(I) Gesela (1) Social Case
Konapka work

(II) Murray G. (2) Social Group
Ross work

(IIT) N.A. (3) Community
Polansky organization

(IV) H.H. (4) Social Work
Pearlman Research

Codes :
O d) dn av)

Aa & @ @ @

B @ 3 @ @

o @O 2 3 @

O 2 3 @ @A)

Match the following international years

with the year of their declaration.
List-1

(I) International Year (1) 2007

List — II

of Disabled

(I) International Year (2) 1994
of Older Person

(IIT) International Year (3) 1975
of the Family

(IV) International Year (4) 1981
of Women

Codes :
(O dp diI adav)

A @ @O @ O

@ @ @O 3 @

o @ 3 @ @)

® 3 @ @ @)




36.

37.

38.

SfoRTeh ST UTshaT ol ShH | AT
T

(A) 3T, IR, Wae, 3o, éijcic(lv-l
(B) WowI, 3TeAEH, M, SAITST, SFga
(C) T, Ua¥T, 3FacH, F8H, ST
(D) W9, T8, TS, STeeH, STacH

CEDAW (. 3. €1 U. s=g,) T 31 &

(A) HFEAIE 3T AT 3T 31

(B) G 3T FHERHE, STTHS
31T Ueee g

(C) HhE A SAHHIA % 31T
W % TEAhRHATH 3T
qﬁq [V o (2

(D) e EGEIENE!
feafshHITM 3FRe TSee gr

A®

frifeRa wiferen fafe=t (gt — 1)
3R VAN (I — 1) o | gafed
H
-1 T - 11
(D " fage (1) = & =9
Ty W
FATE |
OT < e
i AT AT
g
o &
3T el
F AL HATE |
T ufasen &%
T IR H
HqGRAT
T HATE |

) wEEEY (2)

(Ill) FE-TE3R ~ (3)

(IV) -uRreron 4)

O dH D av)
@ 3 @O @ @
@B @O & @ @
o @ @O 6 @
® & @O @ @B
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39.

40.

41.

fr=ifeRa =t foeT &Y :

() s FEEeE (1)

1986

(T9.3T.) arrafTam

(IV) |HrEH
SCIEpE)

HS

@D D
A @ G
B 3 @
e @ 6
O @O &

1936
1926

wre (4) 1946

i av)
2 @
SN
D @
3 @

et — [ o1 e gt — 11 & | o

g -1
() T
TR

(IH) =T, 39

(IIl) T8,
TieTeehl

(IV) Ta.T.
Prgtec

HS :

@O dh
@ 3 &
B @ O
< @O @
® @ 6

e - 11
(1) QTR
o ferTen

S pE)
(2) THISTS T8
w1

(3) WM
I3
(4) |AS HE MY

i av)
2 @
1 @
3 @
@ @

iR SRS aut (g — 1) &
SRl TNOT % IY (et — 1) & 9

T o

TR -1

T - 11

() SR s ad (1) 2007

(IT)  SFeRTLH g
(II) 3R INER a9

(2) 1994
3) 1975

(IV) g Afeenay (4) 1981
HIE

O dh
@A @ @
B @ @
e @ 6
O G @

i av)
2 3
3 @
@ @
@ @



42. Assertion (A) : Indian Constitution
authorises the Indian State to
make special provisions for
weaker sections of society.

Reason (R) People belonging

to weaker sections require special
attention of the State.

Codes :

(A) Both (A) and (R) are correct
but (R) is not the correct
explanation of (A).

Both (A) and (R) are correct

and (R) is the correct

explanation of (A).

(A) is correct and (R) is wrong.

(A) is wrong and (R) is correct.

(B)

©)

(D)
43. Arrange in order the
Research.
(A) Problem Formulation,
Hypothesis, Research Design,
Data collection, Data Analysis
and Report Writings.
Hypothesis, Research Design,
Data Collection, Data Analysis
and Report writing, Problem
formulation
Data  collection,
formulation, Hypothesis,
Research Design, Data
Analysis and Report writing
Data collection, Data Analysis
and Report writing, Research
Design, Hypothesis, Problem
Formulation

steps in

(B)

© Problem

(D)

44. Assertion (A) : Continuous
increase in the population of
elderly is a concern of modern
society.

Reason (R) Active
participation of elderly should be
ensured for the development of
the society.

Codes :

(A) Both (A) and (R) are correct.
(B) (A)is wrong but (R) is correct.
(C) (A)is correct but (R) is wrong.

(D) Both (A) and (R) are wrong.

Paper-11
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45. Assertion (A) : Multinational
corporations ignore the needs of
millions of people by controlling

innovations.

Reason (R) For poor people
the  technological  progress
remains out of reach.

Codes :

(A) Both (A) and (R) true but (R) is
not the correct explanation of

(A).

(B) (A)is correct and (R) is wrong.
(C) (A)is wrong (R) is correct.
(D) Both (A) and (R) are correct

and (R) is the
explanation of (A).

correct

Read the passage below, and answer the
questions, that follow based on your
understanding of the passage.

Although research is different in many
respects from practice, there are significant
similarities between the two, which, if
integrated, can help practitioners to have
better understanding of the problems and
provide services accordingly. Research
begins with problem formulation. Having
formulated a researchable problem, the
researcher develops a research design. The
next stage is data collection, and the final
step is to draw conclusions by analysing
the data. In much the same way, the
practitioner, first assesses the problems to
decide which behaviour systems are
possible. After that, he develops a strategy
for intervention that will be effective in
alleviating the problem specified in the
assessment stage. This is followed by

implementation of the intervention
strategies.  Finally, the practitioner
evaluates the effectiveness of the
intervention strategies that are
implemented.

The greatest drawback of social
work education has been the lack of fit
between research and practice.
Practice courses in social work education
draw more from practice wisdom
than from research, while research courses
are not necessarily practice-oriented.
Consequently, practice and research are

D-10-10




42. ANYEHIT (A) : FHSIR o F ford fowe
T i o o8 YR diaem
J TR T T ST R E |
@b (R) : SR o & fe1d o9 51T
foro &g o <1 ol S € |
WS
(A) (A) &R (R) T @& &, 7= (R),
(A) T TE LT TR & |
(B) (A) 3R (R) T W § 3R (R),
(A) T TE TEFTE |
(C) (A)T@g IR (R) T e |
(D) (A)Tede AR (R) W e |

43. MY H QUM 6 5hH | FT T T
(A) HHEET FH UqUGH, TR, I
EET, ARG H TWUE, RS
TorversoT, wfdes Tar AT
(B) URHeTT, I R, THST H
UL, TSl 1 favetoor, HidesT
AR AT, THET < UTqaTeT
(C) 3Tiehel Tl UUE, T 1 AT,
TReReTT, Iy SO, 3RSl
TargeiToT, Hfders TaR e
(D) ofihgl w1 WUE, NSl H
fageioT, ufqas daR A, Y
T, NGO, WHET H
PliseIcE]

44. AH (A) : I5 AfKET B TGN
H gad gtg g TEST
fare |

T (R) : T % foohe | g5 Afea
H T gHEEd ® ST
Tfeu |

WS

(A) (A) IR (R)SHI T E |

B) (A) e, "< (R) ¥ 5 |

(©) (A)WIg, =g (R) Terq € |

(D) (A) IR (R) SHI AT E |

45. AP (A) : TEUadAl & I F

AT ol TS sl ST
I A E |

@b (R) : vifrerig wnifa fda =afaaat
1 IET | R @l § |

HiS

(A) (A) 3R (R) IH I & W
(R), (A) = T& AT & § |

(B) (A) TR (R) 3T |

(C) (A) smae, W (R) T T |

(D) (A) &R (R) Fl & € 3R (R),
(A) = Gl AT & |

ffeiaa oeaier sl afed e oRaieT i 7o
THH & YR W 3qF 3 J T W U971 &
I T

TEfty S g @ A A ey =T g €,
A % O Teql A €, S {6, afs
Thihd R I S, of o SIS hl
GRS Sl FeR TH U H 3R TEHR A
T A § TEEdl G € | IE-ang
ST Uiquied X o W, INehal Iy i
UREAT IR Rl & | 3Tl STl 3hel
e i §, 3R <9 Fiu 3tishel i fagersor
ek TRy TR & | 5T 9 T UK 9,
3R, I U A & o fop wiF @
FIER HEENE AT &, TS TS hl
AT AT € | 3Uh I15, g8 &deT Hl
OIS TR T & T o SAiehetT bt 3feren |
TG Y TS GHT i Foohl HH § TS 2l |
T TS eLALTT OISt et i
STITT ST © | 37 H, TRl 3 g&ded

THTEUTAT T G e Rl § |
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treated independently at the training level,
and the approach, therefore, continues in
the post-training careers of social workers.
The gulf between researchers and
practitioners over the years has widened.
Researcher frequently complain that
practitioners ignore their pertinent and
important findings. Practitioners consider
much of the university stimulated research
irrelevant and express their inability to use
it. Such gaps have been widened by the
belief that the same persons cannot be both
a good researcher and a practitioner
(Fansel, 1980). Such beliefs have been
substantiated by the facts that social work
researchers hardly find time to practice.

46. According to the passage, which of
the following is the advantage of
integration of social work research
with social work practice ?

(A) Research  gives  different
experiences

(B) Developing strategy  for
intervention

(C) Better understanding of

problems
(D) None of the above

47. How social work researcher and

practitioner perform similar

activities ?

L Selection and assessment of
problem.

II. Development of research

design  and
intervention.

III. Collection of information and
implementation of strategy.

IV. Analysis of information for
drawing  conclusions  and
evaluating the effectiveness of
intervention.

(A) TIandIIonly

B) LILIOand IV

(C) L IIand]IV only

(D) I, II and III only

strategy  for

48.

49.

50.

Which of the following is the
drawback of social work education ?

(A) Research is different from
practice.

(B) Practice is done in casual
manner.

(C) Lack of fit between research
and practice

(D) None of the above

How the practice courses in social
work education are drawn ?

(A) Through research activities
(B) Through training activities.
(C) Through practice wisdom.

(D) Through
problems.

assessment of

The subject matter in the passage

could best be used for

(A) Highlighting the
integration of social work

need for
research with social work
practice

(B) Mentioning the similarity in
the stages of activity of social
work researcher and social
work practitioner.

(C) Bringing out reasons for
widening the gap between
social work researcher and

social work practitioner.

(D) All the above
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AT $E 918 B GEd IS HEH WY AR
AT & g STTEYAT HT 79 & | TH HE
ToTeqT o 37T ST MY o ST Tk
FH W AR R FRA €, STafn vy weHsmH
AEET: A Er TE € | Forey,
3T 3R I T URTETIT TR TR &= TH
ST &, 3R 39 $ROT W, Tel ST QT
FHIAFATS o ITAAL-TILTETIT hRAR H T el
T | AR, IYehdr iR Arharet & s
T el & TS ¥ | ekl TR TTehrEd
o TRl 3 SR Ud Hew ol
IROTHT =t SUST A & | STITThal STTaehier
forvataare uia oy o i qhed €
3R IHHT TEHTA HH H YU STEHAT e
FA ¢ | T SIS 39 4R 5T forya &t U
£ o o5 safad SO9 Sigehdl R TRl
T 8T & Fehd & (ThEer, 1980) | UET URomaAT
1 T 5T G Bl € Toh ST B wiverehetatt
T 31T o T2t 55l & hH To AT OTe & |

46. UNWT F IR, TUST HE WY B
TANS HE AT & T THHT
oy Fiferd @ | E ?

(A) e § =T 3T U & |

(B) TEET o T2 T0HITT R AT |

(C) TuEAl o & THeT |

(D) 9 & g 7 |

47. TUNTHE IMuhdl AR AEHAT [
YR Ueh UehR o [ohaTehedl ohi Foamee
A E ?

[ OO 99 AR 3Tk

I 309 o TRE AR &eT i
O AR T

[l g1 UHHET FEAT SR OIS 1
[ERIERE]

IV. =y Feem & o™t gemr &
fagewor iR '™ Wi
EEIENIGRIEI R @I C

(A) FEALARII

(B) 1, 1L, III 3R IV

(C) Haa ], I SR IV

(D) a1, I 3R 111

48. TETST FHE RET B HAT RS T F
HEAGE?

(A) FTEI MY T |
(B) 319 AT & W fohar ST e |

(C) MY 3R 3719 & =g 3reh-3reh
gﬁ:n.

(D) SUIH & g T

49. TAS FE AW | T 6 TSTHA
1 T5h TR AR fefal ST & 2

(A) vy TIATaTeT & JTeTy 9
(B)  wtSteTor Mttt & qrerm 9
(C) 37T 3 foreih o A |
(D) THETS % Godish o HIEH °

50. u=T &% foOwg w1 FAMH SUIM
et o ford forar st gean &

(A) TUST HE WY B GES A
AT & 1Y ThHIH0T bl ST&Id
T ST LT |

(B) THTST T INYhAT 3R THST H
FIGHAT  Hl  TAErT
I H FHAAT 1 ST |

(C) | 1 el 3R T
IITGHAT F o Tod A &
HROT Sl T FET |

(D) 3w wHt
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